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Ben's Farm

Ben has a farm. He grows many different things.

There is corn on his farm. It grows on big, tall plants.

There are peas on his farm. They grow on long vines.

There are carrots on his farm. They grow deep
underground.

1) What kind of food does Ben grow?

A. flowers
B. vegetables

C. animals

2) Ben grows

A. potatoes
B. carrots

C. onions

3) Ben does not grow

A. corn
B. peas

C. lettuce

4) Ben probably also grows
A. chickens
B. pigs

C. tomatoes
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5) Which of Ben's vegetables grows underground?

A. the corn

B. the peas
C. the carrots

6) What types of tools does Ben need to do his job? How does he use them?

This document and its content is protected under copyrights laws and owned solely by ReadTheory Limited
Partnership; Distributing, reusing, republishing the document in any way or form is forbidden.



Answers and Explanations

1)B
Core Standard: Integration of Knowledge

The passage says that Ben grows corn, peas, and carrots. These are all vegetables. Ben grows
vegetables. Choice (B) is correct.

2)B
Core Standard: Key Ideas and Details

The passage says, “There are carrots on [Ben's] farm.” Choice (B) is correct.

3)C
Core Standard: Key Ideas and Details

The passage says Ben grows corn. The passage also says he grows peas. The passage does not
say that Ben grows lettuce. Choice (C) is correct.

4)C
Core Standard: Integration of Knowledge

The passage says that Ben grows corn, peas, and carrots. These are all kinds of vegetables. Using
this information, we can understand that Ben grows vegetables. Chickens are not a kind of
vegetable. Pigs are not a kind of vegetable. Tomatoes are a kind of vegetable. Therefore, Ben
probably also grows tomatoes. Choice (C) is correct.

5)C
Core Standard: Key Ideas and Details

The passage says, “There are carrots on his farm. They grow deep underground.” Choice (C) is
correct.
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